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QUESTION 1

Which two statements are true about using Process Player to test a process? (Choose two.) 

A. All activities must be implemented for a process before you can run it with Process Player. 

B. When you are running a process by using Process Player and it reaches a user task that has an associated form, you
must display the form to select the task outcome. 

C. As a process runs in Process Player, the BPMN diagram is animated to show the flow through the model. 

D. Before running Process Player, you must map all roles in your process to at least one user or group in your
organization. 

Correct Answer: BD 

 

 

QUESTION 2

The process payload, including customer name and order ID, is stored based on a single XSD- based data object and
the human tasks in the process use this XSD definition. End users need to see the customer name and the order ID as
columns in their default inbox task list. 

Which three approaches best accomplish this requirement? (Choose three.) 

A. Either public or protected flex fields can be used to displays the customer name and order ID without having to add
additional process payload data objects. 

B. Public flex fields can be used if two new simple data elements, representing the customer name and order ID, are
added to the human task\\'s list of data objects. 

C. Public flex fields can be used if two new simple process payload data objects, representing the customer name and
order ID, are first added. 

D. Public flex fields can be used only if they have first been created in the workspace and the two have been added as
mapped attributes in the human tasks. 

E. No changes to the human task\\'s incoming data or data associations are necessary if protected flex fields are used. 

Correct Answer: ABE 

 

 

QUESTION 3

Which two statements are true about using project data objects? (Choose two.) 

A. Any process in the project can access a project data object. 

B. The value of a project data object does not vary between processes. 
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C. Project data objects can be used only as input arguments to a process. 

D. Project data objects can be used in data associations and expressions. 

Correct Answer: AD 

 

 

QUESTION 4

Which statement is accurate about providing process analytics in BPM Suite? 

A. BPM Suite supports KPI reporting for high-level business architecture models as well as for detailed BPMN process
models. 

B. The primary focus of measurement and reporting of KPIs is to help operational personnel tune the BMP Suite runtime
environment. 

C. End users use BPM Composer to review reports showing the results of KPI measurement. 

D. To see any populated business process performance dashboard charts, the project team needs to define KPIs in
their models. 

Correct Answer: A 

 

 

QUESTION 5

Which two statements are true about verbal rules and business phrases? (Choose two.) 

A. You can create a verbal rule with business phrases as a column in a decision table rule. 

B. Derived business phrases are automatically created by using facts, globals, and other information in the rules
dictionary. 

C. User-defined business phrases can be explicitly authored to augment derived phrases. 

D. You can mark a verbal rule as draft in the Rules Editor. 

Correct Answer: BC 

Explanation: Derived business phrases are automatically created using facts, globals and other information in the
dictionary while user-defined phrases can be explicitly authored to augment derived phrases. 

Reference: https://docs.oracle.com/middleware/1213/bpm/bp-composer- user/ business_rules_bpmcu.htm#BPMCU506 
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